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Instruc;'tions for'the candidates :

1. Candidate must enter his / her
Question Booklet Serial No.
(10 Digits) in the OMR Answer
Sheet. | :

2. Candidates are required to give
their answers in their own words
as far as practicable.

3. Figures in the right hand margin
indicate full marks.

4. 15 minutes of extra time have
been allotted for the candidates to
read the questions carefully.

5. This question booklet is divided
into two sections — Section-A
and Section-B. B
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6. @U-37 § 100 g gv7 & 6. In Section-A, there  are

Rt @ ff s0 Wt @1 e
T sfard ¢ (ww &
1 &% fyifa &)1 varg @ s
T & I T W g 50 I
FT & oA FEgET FRT R
Q) G I & IUAR FUD
T OMR STR-73% # 4 79 g}
Tt &t Ad / Fret aer o7 @
e @i et Wt gww &
&R/ WA w7t /) w” )
GT T FT Iuv-ylerwr 7
TTRT FEAT HAT §, =T e
g srmr=r g

7. @UE-q § 30 @g IANIG WA &, 7.
frd @ fet 15 wvat @ gme
AT Hfad & (vew & b
. 2 dF FHiRa &)1 e ke,
39 Gvs 7 8 g I Wy 32
T3 & fFd @ Rt 4wt @
I I & (9% F o 5 om
fiRa e) i |

8. [l YHK & FoiagiiHd 3YF T 8.
w2 qufear afsa &

100 objective type questions, out
of which any 50 questions are
to be answered ( each carrying
1 mark). First 50 answers will be
evaluated by the computer in case
more than 50 questions are
answered. For answering these
darken the circle with blue /
black ball pen against the

. correct option on OMR Answer

Sheet provided to you. Do not use

' whitener / liquid / blade / nail

etc. on OMR-sheet, otherwise
the result will be treated
invalid.

In Section-B, there are 30 short
answer type éuestions,- out of
which any 15 questions are to
be answered (each -camying . -
2 marks). Apart from these, there
are 8 long answer type
questions, out of which any .
4 questions are to be answered
(each carrying § marks). R

Use of any electronic appliances is
strictly prohibited.
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QUs - A / SECTION - A
m H3T / Objective Type Questions

Ty WEar 19 1ooaar%m%mwawﬁmﬁvwéﬁm%#wwﬁ
?!&??sow#%mélam#mg#wm?ﬁma#omsﬁzw

fafeqaa ¥

Question Nos. 1 to

50 x1=50
100 have Jour options, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on_ the

OMR-Sheet. 50x1=50
. 1' i_('eax] -
(A) e B) e
© 3¢ o &
3
-3 'ag;(sm%] =
X
(A) cos= (B}_ 3 cos5
1 x
© -3 (D)  2cos3
3 i (cos3x)=
(A) sin3x (B) — sin3x
(C) —-é—sinSx (D) -3 sin3x
4. ai—-(taan];
(A)  sec2x (B)  sec?2x
(C)  2sec?2x (D) 2sec2xcot2x
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d :
S 'J:_E(qu)—
(A)  6x2 B  3x* ‘
(C) I'4x2 (D) &
6. L(logx?)=
1 2
A — ® %
3 1
© = (D) 3
7. -a‘ilé'(s:.irf3 0)= -
(A) cos® 9 ('B] 3sin? 0
(©)  3sin?0cos6 (D)  3sinBcos20
8j 'di (cos? a) -
(A) ‘sin? a (B) sin2¢.
(C) - sin2a (D) 2cosa
9 a‘—“z(ztan2 x)=
(A) 4 tan x (B) 4tanxsec?x
(C) 4 sec? x (D) 2tan xsec? x
10. I,/;dx=
1 3
A)  ——+k 2
W et B) . Fx2+k
1 3 3
(C) =x2+k D) 2,2
5 (D) 5X%+k
[121/327 ] A 77-017
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11,

[121/327 ] A

(A) log| x+1|+k (Bi el**1) 4
(C) log|x|+k (D) (x+1)* +k
12. jsinzo d0=
(A)  k=-cos20 (B) k—-%cos 20
(C) k+2cos20 D) k-2c0s20
13, IcosSx dx =
(A) k- Ssin5x B) k- Si‘?"
C) k+ Si“ssx_ (D)  k+ 5sinSx
14. I tan3;cdx =
(A) k+%log| sec3x| (B) k+3log| sec3x|
(©) k-3log| sec3x] D)  k+ log| secx|
2
15. Ixz dx= _
0 . ‘ 3
A) O B) 1
8
© % o £
n/4 |
16. I sinx dx =
0
1 = .
A — (B) 1 +—=
@ I =
i) 1e—pe o Lo
v2 V2
77-017 Page S of 32



17. I e*dx =

0 .
A) e-1 gy ==
(C) l+e (D)- e
g _
18. Idx:
0 '
Ay 1 . B’ 0
© 2 oo -2
) T
B 19 dex:
0 .
(A) O | 1.
© 2 | " (D) 4
20, * [22=14y -
x+1
- (A) log|x2+x+1|_+k (B) l.qgl x+1|+k
| _ B
(C)_ 2 %z—xﬂc _ (D) %-+x+kl
2n
21. I sinx dx=
-2n .
(A) 0 B 1 ’
() 2 . D) 4
/3 '
22, I tanxdx=
-n/3
(A) 0 '_ B 1
€ 2 o B
. - | 2
[121/327 ] A " 77017
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X —-X

23. f E;—_‘g:; dx=

e " +e
(A)  tanTl(e*+e™¥)+k (B) - log|e*+e | +k
(C] log | e* —g"x | +k (D.) x+k
- * 1""'1_ d =
24. I-" ( x2) x
x> X3
(A)  F+k B) H-x+k
© FF-2x+k D) E-+2x+k
1
25. 6[Jx dx=
. 0 i |
A) 6 (B)
c 2 (D)
26. j' J—
(A sin““4x_+k B) sin”! 3x+k "
(€) sin™'2x+k (D) sin“_lx+k
27. 3
I 1+ 9x |
(A) 9tanlx+k B) tanl(9x)+k
(©) tan'(3x)+k - (D) .tan‘1x+k_
1
28. dx =
J-c032x - _
(A) sinx+k (B) cosx+k
(C) tanx+k | (D) secx+k
[121/327 1 A 77-017 . Page 7 of 32



29. 4_|'dg=-

77-017

(A)  4+k B O
(C)  4dx+k D) x*+k
30, 4 ox
| ax (27 =
a2 2.
Bl Tog2
(©) - 2%1og2 (D) ~ xlog?2
31.  TEHA FHIFT xdx+ydy=0 F &
(A) X=y+c B) - x*+y?=c
{C)  x+y=c D) x*y*=c
- The solution of the differential equation xdx+ydy=0is
(A} x=y+ec (B) x2+y.2=c
(©)  x+y=c D)  x?y?=c
| dx
32. =
J=3=
(A) cosT' X4k B 1 xX=2
.5 (B)  Zlog 5|tk
1 X + 2 :
© 3log[Z2 4k ®  tan Lk
: dx
33. - =
Ix2+9
A 1L
(A) tan "S-+ k (B) §tan“'1x+k
1 -1 X Y 3
c 7 ! x .
(€@  Stan 3tk (D) tan™! x 4
[ 121/327 JA
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40. ,“ﬁc:=2?+2'}’-5}},’mr3=gf+;+3kﬁ’l|a+b| 5

(A) V47 (B J37

© V29 o) V5

If Z.-.-.- 2? +2?—5-}: and ;: 2-1-’ + Ti’+ 3k then the value of
- -

|a+ b|is

(A) V47 B J37

€ v29 D) V15

41, gfew 2?—3? = feem & geprg wicwr &

r A
w L B et

2':’- - i i
© = o

: - -
The unit vector in the direction of the vector 2i - 3 j is

* -

> - i -
2? +3j’> R ?_ i
(C) ~— 5 (D) T/ﬁ_

42. TH GHIHOT %-{-y:QEﬁTEﬁNﬂ;m% ;

(A)  y=Ae™* (B) * y=2+4e~*

(C) y=Ae* +k (D) Eqﬁﬁaﬂ?aﬁ-'
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43.

44,

45.

The general solution of the diffe_réntial equation slg,+y =2 is

®  y=Ae?x (B)

C) y=Ae* 4k | D)

dx
X

y=2+Ae”

none of these

d .
STEHT THIHOT E%-Sy:cosx 1 GHEGE O &

A)  e3x | (B) e2*
[l -~ & (D) T Q FIE Tl
The integrating factdr of the differential equation g—z;s Yy=CcosXxis
(A) 8—31 i 3 {B) _. e-2.x X
(C) e * P (D)  none of these.
71 x 2k =
(A) 14 - (B) 0
‘ e : ' _?.
(©  -14 D) 14
et firrg @ @7 3x-2y+42=7 B A &
7_ - | B) i XY
(A) g . B /31 !
(C) 7] . (D) __J4_f |

The distance of the plane 3x —-2y+4z=7 from the origin is

@ L . B

© = . ®

=N
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(A c;os"l[%) l - (B) cos"l( J;_'Y_]
I | (D) - | 3=rﬂt SEIERL

:(IC) co.s'l(%) ,.

.‘!6' _ G X-y+2z=17 TUl 2x+ 4y+32z=3 aszﬁirasrw%

The angle between the planes x-y+ z=17 and 2x-+ 4y+.azf—-3 is

(A) co{{i—%) (B)
| .(Cll ' cos?l(%—f’s—] | .(Di |

none of these

3,2, 8 fey ST A e ) e A

47.
A 3 =2 8 ® -3 =2 8
(©) —Jg—;-j?—i?-—% D) T @ W
The direction cosines of a line having direction ratios '3,' -2, 8 are
& 22 8 ® B -2 8
| () 7;-_,?' -:J%' _J_'?_? (D)  none of these
=  —) " -—pl
- 48. (Si-j+2k). (2142 j-4k)= -
A O B 4
© 6 . D -3
[121/327 ] A 77-017 |
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49.

50.

Sl.

. '92.

53.

I xe3* dx =

| ' 3x X

S i el B (5x-1) %5
3x i 3x
(31 '2_;"‘5:‘:) - (2?-27—2}3)=
4 o B) 11
af e Y 9 R ot =Ly, 3
D HINMY ¥reh X, T & al x &I A g
o N
A —== 2
(A) T (B-)f 7=
3 4

C —o —
(C) T (D) 75
If the direction cosines of a line are Jli4’ x, J:li-_-

A

xis
w = (B)

3 D
(C) 7ia (D)
(37+7-2K). (- T+37+4K)x (41 -2]-6K)=
a o | (B)
© 2 | D)

3

qeT 7x+8y—9z =7 W 3fversr & KF 3T &

A 7,89 B

c -7, 829 - (D

7 8, =0
S S8, =0

then the value of

[121/327 ] A 77-017
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‘ —92:.=7 are
: lane 7x+8Y- .
The direction ratios of the normal to the P .

A 7,80 ® 787
© -7, 809 o -7.-8"°

54. Fretfeifaa o #19 a¢, y - oaa%m% ?
a) y=-2 B x=3
‘(CJ | x=0 ., (D) z=3 |
Which of the fo]lowmg plancs is parallel to the plane y=07?
W y--2 (B) x=3
(C) x=0 o) z=3

55. O 2x+ 7y-9z= 4%%@%%?@%

(A) 7x—y—z=4' (B) 7'x+y+32: =4

€ 2x+7y-9z+4=0 . (D) Eﬁﬁ%ﬁ?ﬁ

Equation of a plane parallel to the plane 2x+ 7y 92 4 is
A) 7x—-y-z=4 ' B) Tx+ y+3z_4

(C) 2x+7y-9z+4=0 (D)  none of these
56. del x-5y—11z+15=0W T Ueh o1 T THEHLOT &

+ (A) x+y+z=3 (B)  x+2y+z=2

(C) 3x-y+z+15=0 (D) T ¥ =
Equation .of a4 plane perpendicular to the plane x=5Yy-11z+15=0 is
(A)  x+y+z=3. B)  x+2y+z=2
(C) 3x-y+z+15=0 (D) ﬁoﬁe of thiesa

[ 121/327]A 77-017 o " page 140132



1 1 2
57. 3 2 S|=
17 -5 12
(A) 0 | B) 1
c -2 (D) 115
* 1 8 2
58. |4 8 8=
9 17 18
a) 0O (B) 1
c 4 (D) 125
. 1 -1
59. 2[7 B]=
C e a _' [ B
(A) ¥ 3] (B) 14 8]
1 =1 | [ 2 -2
(€ | 14 16] (D) | 14 16]
a b
60. 3 c d|= |
3a 'Ib 3a 3b.
LV 'd| B | d
3a 3b 3a 3b|
o |3 3| I
2 5 [
6l. [8_ 10] [40]-
. o B 58 _ "y
(A) [320 400 B) | 720
r 1
©) [208 432] (D) 333
4 -6 10
62. 6 0 4=
1 5 =7"
(A) 24 B 48
) -24 (D) -56
77-017 Page 15 of 32
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w5 B [3 3]

@ [33 o il F A
cxo3 oenngomrs
w-[.3-9 .- ® HEiR

© _[_3 ‘2] D) none of:meée

64. AR x=asing, y= bt a’r aﬂ*ﬂ%

(A) : tan6 - : (B) ~-tan G
(©)  cot® (D) =-cot® -
If x=aSinB,- y=dcosB thcn %—i— is equal to
-‘(A)' | tan 6. : . (B) - tan 0
© cote (D) -cotd
65. U x-—=§at, y=at2_a} %% ELEES %
(a) ® 1
© D) TR R
If x=2at, y=at? then gy isequalto .
A ® L
2 5
(C) t (D) - none of these e
[121/327 | A 77-017 | e
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66.

67.

68.

*. 69.

70.

©@ -1 | (D)

2 .
fﬁ'(2x2+5x+7}=

a2 | B) 4
(C) 4x+ 5 | N (D) 4x o

‘a% [Sin_l (cos x }..] =

(A) . _Cosx | (B) - COS X

“l."‘xz 1__-.x2 '

frefetfEd & i el worm & 2

(A) z=3x+2y B)  x=20

C) y=20 (D) 38 QA @i 7
Which of the following is an objective function ?

(A) z=3x+2y (B x20

(C) y=20 (D) none of these

FERN x+y<4, x2 0, y20 ¥ AT Z=5x+6y H JATH T ¢

A 0 (B 5 N

(C) 20 | (D) 24

The minimum value of Z=5x+6y subject to constraints
x+ys4,x20,y20 is

@ o | B 5

(C) 20 (D) . 24 |

AR x4+ y<50, x20, y20 F HAA Z= 4x+y 1 AUHaH AF L
(A) 0 _ o (B) 200 |

© 50 D) Y PR

[121/327 | A 77-017 T Pagel7of32



71.

2.

73.

74.

The maximum valuc of

x+y<50, x20, y20 is

A o

() 50

A:[? é:l::sA2=
0 1

@ 94
(1 0

© |49

sin”! —2%X_ =
1+ x

(A)  2sin!x

4
r
a) LE
© =

P GG T ?

subjcct  to

Z=4x+Y
(B8) 200
(D)  nonc of thesc
0 O
® [3 9]
' 1 1
@ |1 1]
(B) 2cos ! x
(D)  2cot
-
®
D) =

(A) ‘o WEFd R FHEtET SE

constraing

' ddlimb +b2mﬁq&mﬁaNﬁwﬁamﬂ°raﬁm 3 frefutaa

[121/327 ] A
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Which of the following is true in a binary operation 'o' defined on N by
. a:nbwlalg"-i-b"1 ?

(A) '0' is hoth associative and commutative
(B) '0' is commutative but not associative
(C) . '0' is asgsociative but not commutative

(D) None of thcsc .

75, WIS A=(1,2) ¥ ot et T e o qRo R o w0

(A) 16 | ; (B) 8
€ 4 | D) T F FIE T
How many distinct relations can be defined on the set A={1,2} ?
(A) 16 B 8
c 4 (D)  none of these
1/2 -
6. | 2= =
0 1-x
A 2 . B) 2+V2
€ 2-2 - (D) 3+2
77. A% @I fc;3=__yg4=z:7-6 dd ax+by+cz+d=0 %mﬁi‘ﬁ
(A) - 3a+4b+6c=0 (B) 4a+5b+7¢=0
(C) 4a+5b+6c=0 D) FH ¥ HIE Tl
If the line x;3=3;4= 2;6 is parallel to the plane

ax+by+cz+d=0 then
(A)  3a+4b+6c=0 ~ (B) 4a+5b+7c=0
(C)  4a+5b+6c=0 ' (D) none of these

[121/327 1 A 77-017 | o Page 19 of 32



78,

ot Yar LadeZ @ x=5 gﬁ..z_g-"l ¥ qieT & Al kW AE Y

2 4
@ 4 o i B
(€) 10 (D) EC ] F el
- -6 z-2
If the line -g—=-g—=-§— is pﬂ..!'ﬂ.llﬁl to the hne x45=y_6 ndk .thcn
the value of kis
4 4 - B 8 -
(C) . 10 - - (D) none of these
- -+ = - = = |
79. (Bi-4k).(i+ j)x(4i+ j-4k)=
(A} 15 (B) 18
(C) 224 : by O
-11 -11 _
80, tan §+tan 7
| -1_1 | ‘ -13
(A) tan L , (B) .tan 17
-1 2 -1 6
(€ tan”' % (D) tan lﬁ
81 2tan"lé =
15 |
@ tan”' 2 .- (B) ;a.n‘_‘-,,%
a1 ‘ I
(C) tan l-é—g— (D) tan—li_é_
82. A FuM 4 3R BEwAE @ P(A/B)=
(A) P(A),P(BJ#O | - (B}  P(B), P(A)20
(C) P(A)+ P(B | - PA)
(B) (D) (5 P(B)*0
121/327 | A
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[ftwo events A and B arc independent then P(A/B)=

(A) P(A’, P(B}#O (B)

(C)  P(A)+ P(B) | (D)

83. z1%J"(a'-:"l=—é-,1°(A):OI?ﬁ‘P(}}g/,:;);

(C) 3uRsftg . (D)

If P(B)=7,P(A)=0 then P(B/A)=

4) O ! | . (B)
(C)  nat defined | (D)
s 338 9 '
w5 e
© [3 3 ‘ (D)

P(B), P(A)#0

P(A)

P(B

N =

o ¥ FE

1
2

none of these

. OW

(1
0

)l

o"l

P

Wi

1]

B)# 0

85. & @Wdd geae A I B & foU qﬁ'»P-(A)=%,, P(AUB):%' e

P(B)=xdl x T HA &

1 S -
A 15 | B 15
© & O) T

[121/327 | A 77-017
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. 1 _2
For two independent events A and B, if P(A)=73, pP(AUB)=7 and

P(B}=x then the value of xis

3
1 —
W 15 B 10
7 3 none of these
© 5 D)
2 316 7]_
= |11 -
(15 20] ' (18 20
“W |7 9 B |22 37
(31 44 (8 21
©  li6 19 @ |2 3]
87. [7 3x-5)=[y-1 -2x] =
(A) x=-1,y=7 B x=1,y=8
C) x=-3,y=7 M) x=4,y=7
88. Tz UF T HisgE A 39 USH 7 B 543 +6A2+7A+1=0 A1 A”! TR
4
(8)  5A2+6A+7I (B) -5A2-6A-7I
(C) 5A2+6A-71 (D) 374 ¥ IS Tl
If a square matrix A is such that SA%+642%+7A+1=0 then A~ is
equal to
(A) 5A%2+6A+71 (B) -5A%-6A-7I
(C) 5A%+6A-71 (D)  none of these

1
89. j'xn-—x)w“ dx =

0
. _

(A Tooxio1 (B) 101i 102
1

T 100 () 1003 101




- 90.

91.

92.

93.

=1l q
g X = al cos(2cos™! x+28in~" x) % HA %

: |
a4 3
< -1 (D) 79 A FE A

o g o
If X= then the value of cos(2cos™ x+2sin~! x) is

® | B 2

. -1, (D)  none of these
g

W ] e [
© [88 o [?}

Ifs geA A 3 B 34 WHR & & P(A/B)> P(A) @

(A)  P(B/A)<P(B) (B) P(ANB)< P(A).P(B)
(C)  P(B/A)> P(B) o) P(B/A)=PB) ~
If A and B are events such that P(A/B}> P(A) then
(A)  P(B/A)< P(B] (B) P(ANB)< P(A).P(B)
(C) P(B/A)> P(B) (D) P(B/A)= P(B)
sin l%+sin"1§-=

- . 148

1 (B) sin a5

-1

. 16

(A) §1n 18
' , -156
(C) -~ sin "g&

(V] B

(D)

[121/327 ]A 77-017 Page 23 of 32




n/2.

94 I (x3+xcosx'+ tan5x+1}dx aaTHTFf%
-%/2 _ © 3
4 o - B) 2
€ = o) 1
| 2 Lo
The value of I (x3+xcos_x+tan5x+l]dx s
: . . i
. Ay O B). 2
(O = >y 1 A -
' 95. U faak 1ommm%izﬁiﬁaﬁﬁﬁwﬁaﬁmﬁaﬂ%
' 10 | 7
N N e
3 ? ;
o B (%) (D) . T |/ I el
A coin is tossed 10 times. The probability of getting exactly seven
heads is ' | ‘
10 7
‘ (A) IOC'?I(%) (Bl IOCS(_%J
5 _ _
© Y (%) _ (D)  none of these
96. y-3 & R i wATE
a1 | B 2
C) 3 - D) 4
Tht; sum of direction cosines of the y-axis is
A 1 o - B 2
(€) 3 | (D) 4
97. dAx-y+z=68RTx, y amz-amfrqtm%vqaﬁ@gm S
(A) 1,-1,1 _ (B) 6, 6,6
(€ 6,-6,6 (D) 6,6,-6

—

{ 1217827 A | 77-017 Page 24 of 32




The intercepts cut off by the plane x — y+ z=6 on the x-, y- and
Z-axes respectively are

(A) 1,-1,1 B) 6,6,6
(C) 6: = 6, 6 (D] 6_‘ 6, — 6

98. SNl x+y<3, x20, y>0 = Ja\ 2 =5x—-6y Il =LidH HH &

@ o : B 15

€ -18 D) -3

The minimum value of Z =5x-6y subject to constraints
x+y <3, x>0, y>0 is

@ o - B) 15

€ -18 - M -3

99. 195 (1,2,3)WaF x+y+z-3=0 DI A&

(a) % ® V3
© 3 D 6

The distance of the plane x+ y+z—-3=0 from the point ( 1, 2, 3} is

(A) _Jig_Z | ® 3
(€ 3 _ D) 6

‘100. HAdEo HIﬁWUT 2= dy+e_ydx =0 <l & €
(A) e*t¥ =k B e *+e¥=k
(C) e*+e¥=k D) =x+y=k

_ The solution of the differential equation e “dy+e Y dx =0 13
(A) e**¥ =k B) e “+e¥=k

(€] e sra¥ak ‘ D) x+y=k
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mE-g I-SECTION .B
‘ Wmm / Short Answer ‘lype Questions
0y qEr 1#30%@33&-},;##&?9’ 15wyt & I T AR

& T 2 3w Fraffea & | . 15x2=30
Question Nos. 1 to' 30 are Short Answer Type Answer any 15 questions. Ea?h
' 15x2=30

question cames 2 marks

L faga (-1,3,2) 90 (2,3, 5)amwmﬁﬁam

Wﬂ'ﬁl : : : , , 2

‘Find the direction cosines of thc line passing through the two points
(-1,3,2)and (2;3,5). |

2 HHHEAA &Y I dx 5
# 1+ cosx
dx
Int N —e
AR 1+ cos x
3. . -HEEA L Icos2x—cos2a de. - : e 8
COS X —COS L _ .

cos 2x - cos2a
COS X—COosQ

jI.nrte:gr:el_te: I
4. fag # % 4(cot™!3 +cosec IJ_)‘TI: : R 2
_ Prove that 4(cot™! 3 +cosec IJ_l—n o _ h_ ;
5. 3R A:B %] o B:B, ﬁ]a’rAB R BAﬁaﬁl-' e
If A=B {] and B= [é ﬂ then find ABand BA.

2

6. WRUTH Ak CE kS .

2

el e
0o
O o R

[121/327 1A 77-0_17' AP " Page 26 o1 2



10.

11.

12.

13.

TN

V]

‘ : 1
Evaluate the determinant 1
1

0o R
0 o/
' (¥

aﬁ'g’-d X% tax+1 qt g_y_ H FL |
. x

If y=Jx2+ax+1' ‘then find %’i
" x -

E[&{ y=sin2(2x+3].cosz(3x'+4.) hill %— ?ﬂﬁ cxd
: X

. -y , | |
If y=sin (2x'+3.}.c082[3x+4) then ﬁnd d_y
T x= logt + sint, Y= e’ +cost FI\T Sﬂﬁ'clﬁl

If x=logt + sint, y=e' +cost then find %ﬁ-

A y=x'/* 7 ¥ iy

If y=x'* then find g—i.
THHAT 6L ¢ I 4(" 1)° - dx.
2x3 + x
' 2
{x=1)
Integrate : dx.
: er Ix4—2x3+x2 :
3 3
asin x+bcos X
e 1 : [ 7 dx
Sln X. COS X
, . 3 : 3
_ : asin” x+bcos™ x
Integrate: Jl Singx.cosgx s

AT HY I:acs‘.iruc2 dx.

Integrate : I xsinx? dx.

(121/327 1A 77-017
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n/6

14, Icosx.cost dx ﬂqﬁmaﬁ"
0

n/6

Evaluate I cos x.cos2x dx.
0

=
n/2

15. ___dJeosx
'! Jsinx ++/cos x

n/2
" 2 JCOSJC

Jeosx 4, &1 HIF T X |

aluat
Ev nate J QSIHX'FJCOSI

16.  x ¥ 5 A & RAT f(x) =3x% —2x+9 TEAA GO E 2

For what valués of x, f(x)=3x% =2x+9 is a-decreasing function ?

17 B (2 - yx?) dy +y” +xy

Solve : (x? —ny] dy +(g,.f2+.7c_1,¢2 ) dx=0.

18. ®A@t: Y, Y _.m
. dx x

Solve : i‘y—+ni"- =xM,

dx ;-

19. T Y@t e R s _g_,:_l, <9

SIGE:TE
2.__:2. d3 2 6
3’3!3 7 7'7

)dx=0.

(121/327 | A
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20,

2%,

22,

23.

24.

g Yang X+ “1 _Y=3/2 2.6 g x-4_y+3_2z-5 wer @@ @
3 4 3 ~2 .0.

ﬁpaﬂqﬂm'ﬁr - o 2

If the lines X*1.Y=3/2_=2-6. .., x-4, y+3_2-5 ,re
P 3 4 3 -2 0

perpendi(:ular to each other then find the value of p..

m 21‘31 +5k Tl 81—9_} +11k memaﬁl 2

Find the vector prod_uct of two vectors 21 -3 j +5k and

81—91 +11k

_@ﬁqﬁﬁammm%laﬁﬁ4msﬁﬁaﬁaﬁmﬁmm

| A S 2

A coin is tossed 6 times. Find the probab1l1ty that exactly 4 heads
appear.

e Yas WumR wHET B W
‘ Zadl 4x+5y<20.

x20, y20 ¥ 3fid
Z=11x+12y &7 Afehad 7 1 L 2

Solve the fol]owmg linear programmmg problem
Maximize Z=1lx+12y
subject to the ‘constré..ints 4x+5y<20

| x20, y20.

16cmﬁma|ﬁqaﬂ?am$qﬁaﬁqaﬁﬂmaﬁﬁw ¥

r=

e T ] | | _ "

Find the rate of change of the area of a circle with radius r = 16 cm

with respect to its radius r.
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> 2 2 a2 2 0T T e2K). 2
HAMAH : (7i-j—k). (20 +2] +3k)x(9t+

25, °
Evaluate : (7?-}'-35) (21+21 +3k1"(9” J *2")

26. e f: R»R TR flx)=3x, xR %Tm*fm“ﬁh . 2
Examine the function f: R—R where f(x)=%x,xER for one-one
mapping ? o

27. af & wemei A R B & foW P(A)=0-8, P(B)=0-5 T
P(B/A)=0-4 @ a P(a/B) T FX| i 2
If for two events A and B, P(A)=0-8, P(B)=0-5 and P(B/A)=0-4
then find P(A/B). https://www.bihartopper.com

28.. I UMl U W bl AT & | 3l F ANTES 8 AT 9 S Y Waha
e HE - 2
Two dice are thrown simultaneously. Find the probability of getting a
sum 8 or 9.

flogx? .~ o
29. mﬂma{%:[_ﬂ_dx_ . "
i = |
2 2
Evaluate : I -(-1-9&)5)— dx,
x

30. T B y(l+xy)dx-xdy=0. ‘ 3
Solve : y(1+xy) dx-xdy=0.
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et sty www / Long Answer Type Quutlonl

mmalﬁasﬁ&mmilﬁﬁ#ﬁﬁﬁ4mﬂ?'&im?lm'

33.

34.

_*Wsaimﬁmiﬁa%l | - 4x5=20
Question Nos, 31 to 38 are Long Answer Type g't-,té:étions. Answer any
4 questions. Each question carries 5 marks. ' 4x5=20

| 1 a a%-be| - ,
31. TR |1 b b2-cal=0. : g .
, 1 ¢ c?-ab| - ’ '
l a a?-be
Prove that |1 b b%-ca|=0 .
¥ c QQ—ab
32. R cos™! x+cos~!y+coslz=n O FOF T F x2+y? 42?2 +2xyz=1.

If cos™! x+cos™!y+cos~!z=n then prove that x? +y? +2% +2xyz =1.

'ﬂﬁxmy"g(x—y)m*_?a‘rj—zmﬁl_ 5

If x"y"=(x-y)"*" then find g—i

- JfhaiERT ¢ Z=5x+7y

EEICT x+ys 4

3x+8y < 24
10x+7y <35

x20,y20. | | 5
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'- Maximize

sﬁbject to

Z=05x+7y
x+y<4
3x+8y < 24
10x+7y <35
x20, y20.

35. TR : (x+3y+2) SL-1.

Solve : (x+éy_:§i§) g—y= )

.y
.36. -E’H_’@Taﬁ r—(!+2_] +3k)+).{1-—3]+ 2k) T

=

-

N

- . -
_r.=(4i+_;3_j_+6--ﬁ_c)+u(2i‘-+'3-j + k) % 99 9 oEOH 0 T

- Find the shortest distance between the two lines

5> - -

r=(i+2j +3k]+l(!—3j + 2k) and

= -

' > - - el AW
. r=(4i+5j+6 k)+pu(2i+3j + k)

(4]

37. 3 R F FAF AR x T F G B A A« F I T

|

-l

\ In a throw of two dice, if x dcnotcs the number of sixes then find the

expectation of x.

N
38. rrr:rsﬂaﬁ —"‘S‘“;‘ 5
l+cos X -
T xsinx .
Evaluate : I — dx
) 0 1+cos” x
77-017 Page 32 of 32
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